	
	KENDRIYA VIDYALAYA SANGATHAN (AHMEDABAD REGION)
PISA BASED QUESTION
2019-20
Class VII    Mathematics


	Q-1 
	Three radar stations A,B,C pick up a distress signal from a boat at sea.           C is 24 Km due east of A.  AB is 12 km and BC is 18 km. The signal indicates that boat is equidistant from all the three radar stations

[image: ]

	Q 1.1
	By construction and using a scale of 1cm for every 3 km locate the position of boat.

Ans. – Construct the triangle ABC using given scale. Draw the perpendicular bisector of any two side. Name the point of intersection of perpendicular bisector as D. D is the location of boat as it is equidistant from the given points.

	Q 1.2
	What is the true distance of boat from each radar station?

Ans.- Draw the circle with centre D and radius AD. Radius AD is the true distance of the boat from each radar station.

	Q 1.3
	What mathematical terminology you use to state the location of boat.

Ans.- Circumcentre

	
	

	Q-2
	[image: ]           Using above data answer the questions given below:-



	Q 2.1
	There are 200 birds in a flock. 120 of them are female. What % of flock are
 (a)Female
 (b)Male

Ans. – (a) (120/200)= 3/5
                                   = 60%
           (b) 100% – 60% = 40%

	Q 2.2
	The cost of onion increased from 40 zeds per kg to 70 zeds per kg. Find the % increase.
         Ans.-{ (70 – 40)/40}=30/40
                                             = ¾
                                             = 75%

	Q 2.3
	The cost of computer in a computer store is reduced by 12.5 % in a sale. If the computer was priced at 27800 zeds, what is its price in the sale?

Ans.-       12.5%= 1/8
                1/8 of 27800 = 3475
         Price in the sale   = 27800-3475


	Q-3
	 Refer to the graphic
[image: ]


	Q-3.1

	Which animal is fastest?
 Answer:- cheetah 

	Q-3.2
	If a cheetah and tortoise travel at their top speeds for 1minute; how much farther does the cheetah travel?
Answer  31.3 × 60 = 1878 m (Distance Cheetah travels in 1 minute) (
 
)
· 0.08 × 60 = 4.8 m (Distance tortoise travels in 1 minute) 
1878m – 4.8 m = 1873.2 m (Distance travelled by Cheetah farther than tortoise in one

	Q-3.3
	Find the ratio of speeds Cheetah and Tortoise with the given data.
[image: ]

	Q-3.4
	Find the difference between the distance travelled by Horse and Cat covered in  of an Hour.
Ans. (21.3-13.4) x15min x60 sec=7110 metres

	
Q-4
	
Imagine that a 10 × 10 grid has value 300 Zeds and that this value is divided evenly among the small squares. In other words, each small square is worth 
3 Zeds.
	
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 




	Q-4.1
	Shade 25% of the grid. What is 25% of 300? Compare the two answers.  

Ans.  25% of the grid = 25 unit squares 
           25% of 300 =75
    25 unit squares = 75 

	Q-4.2
	What is the value of 25 squares? 

Ans. 75 zeds

	Q-4.3
	Shade 17% of the grid. What is 17% of 300? Compare the two answers.
 
Ans.  17% of the grid = 17 unit squares
                   17% of 300 = 51
           17 unit squares = 51

	Q-4.4
	What is the value of      of the grid? 
Ans. 𝑜𝑓 𝑡ℎ𝑒 𝑔𝑟𝑖𝑑 = 10 unit 𝑠𝑞𝑢𝑎𝑟𝑒𝑠 
Therefore value of 10 𝑠𝑞𝑢𝑎𝑟𝑒𝑠 =30 zeds


	Q-5
	Refer the following figure.
[image: ]



	Q-5.1
	Construct an equation in terms of X from the following figure.
      

	Q-5.2
	Solve the equation   
Ans. x= 

	Q-5.3
	Calculate the measure of each angle


	Q-5.4
	By using protractor check your answer
Ans. Do it by using protractor

	
	Figure is incorrect

	Q-6
	 (
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P
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If   , PQ = 3 cm , PR = 5 cm. Write true or false for each statement.
6.1 )              Ans. False
6.2) AB = DE = PQ = 3cm                        Ans. True
6.3) BC = EF = QR = 4 cm                        Ans. True
6.4) AC = EF = PR = 5 cm                        Ans. False

	Q-7 












7.1



7.2

	[image: ]
At 12.00 noon The minute hand started moving at speed of  per second and hour hand at a speed of  per second. 
Answer the following questions

After how much time the angle between two hands is ?                               Ans. 18 seconds

After how much time the two hands meet again?                                               Ans. 360 seconds or 6min.


	
Q-8 
	REPEATED-
See the following figures: -
	






			










	Q-8.1
	Ram says that “the number of triangle is 4 less than the number of rectangle” Is Ram’s statement true or false? Justify.        
Ans. TRUE no. of rectangles-no. of triangles=9-5=4                                                      

	Q-8.2
	If number of triangle is represented by ‘x’ and number of circle by ‘Y’, write an equation connecting x and Y.  
Ans. x+y = 16

	Q-8.3
	What fraction of the total items is number of circle? 
Ans. 11/25

	
	

	Q - 9
	A mother sends her son AJAY to a mall to purchase banana and apple. He visited the mall first time. As he entered the mall he saw variety of fruits there and the cost was written as follows:
(a) Cost of two apples and four bananas as Rs70.
(b) Cost of two apples and two bananas as Rs60. 

	Q-9.1 
	Find the cost of one apple and one banana.
 
Ans. Cost of one banana=Rs5
Cost of one apple =Rs25

	Q-9.2
	How many bananas can be purchased in Rs 20?

Ans. 4 bananas

	
	

	Q-10
	Sheena got new admission in a school. First day she went 3km towards east and then 4km in north direction to reach the school. As soon as she reached the school her friend told her a new way to go back home in which she has to cover minimum distance. 



	Q-10.1
	Name the figure formed starting from home to coming back home?
Ans. Right angled triangle

	Q-10.2
	Find the minimum distance covered by her? Name the theorem used.

Ans. 5km, Pythagoras theorem

	Q-10.3
	Find total distance covered by her
Ans. 12km

	
	

	Q-11
	Rama wants to go to the post office which is 8km towards east from her home. But by mistake she went 5km towards west. Then she realized that she is going in wrong direction.

	Q-11.1
	How much distance she has cover to reach the post office?
Ans. 18km

	Q-11.2
	Find the total distance covered by her in going to post office and coming back to her home.

Ans. 26km

	
	

	Q-12
	The bar graph given below represent the number of student studying in five different school of a city. Study the bar graph and answer the questions: [image: 2019-09-26 22:49:16.125000]

	Q-12.1
	Which school has the minimum number of students?
Ans. -  A

	Q-12.2
	What is the difference between the number of students in school C and E?
Ans. - ZERO

	Q-12.3
	Find the ratio of the number of students in school A to the number of student in school B.
Ans. – 8:15

	
	

	Q-13
	In figure AB = BD = DC. Then answer the following
[image: 2019-09-26 22:56:07.152000]

	Q-13.1
	Triangle ABD is a 
a. Right angled triangle
b. Isosceles triangle
c. Equilateral triangle
d.   Scalene triangle
Ans. – (b) Isosceles triangle

	Q-13.2
	In triangle ABC the line segment AD is 
I． Altitude
II． Height
III． Median
IV． Perpendicular

Ans. – (III) Median

	Q-13.3
	In triangle ABD what can we say about angle BAD and angle BDA
1　 They are equal
2　 They are not equal
3　 Angle BAD is double of angle BDA
4　  Angle BAD is half of angle BDA

Ans. – (1) They are Equal

	Q-14
	[image: 2019-09-27 16:36:49.125000]
A cat is sitting near the wall which is 8-meter-high and she saw a bowl full of milk is kept above the wall. She tried to climb on the wall but failed. Then she saw a ladder kept with the wall and the top of ladder was reaching above the wall. And the base of ladder is 6 meter away from wall, so the cat decided to use the ladder to reach above the wall. 
Based on above observations answer the following questions:

[bookmark: _GoBack]

	Q-14.1
	What is the length of the ladder? ________

Ans. 10m

	Q-14.2
	How much distance the cat has to travel to reach above the wall? __________.
Ans. 16m




















	
Q-15
	
The double bar graph shows the average monthly temperature of two cities over 4 months’ period. Read the graph and answer the questions.
[image: 2019-09-27 16:38:02.175000]

	Q-15.1
	What does each 1 unit block on the vertical axis represents? _____________

Ans. 10 Degree Celsius

	Q-15.2
	What was the average monthly temperature in Dehradun in April? ____________

Ans. Approx. 35 Degree Celsius

	Q-15.3
	What was the approximate average monthly temperature in Delhi for the whole four months? 
(i) 20°C
(ii) 40°C
(iii) 60°C
(iv) 80°C

Ans. 40°C

	Q-15.4
	In which month was the difference between the temperature of Delhi and Dehradun maximum? ___________
Ans. June


	
	


 
	Ques. No.
	Question


	Q16
	In the recent press released by the government, it was stated that license of those milk dairies would be cancelled whose products would be found adulterated with more than 25% water. Upon listening to this Ramesh and Suresh started arguing that their products would pass the tests.
[image: ]
Ramesh said that he mixed 2 liter of water for every 5 liter of milk.
Suresh said he added 250 mL of water for every 750 mL of milk. 

	16.1
	What is the water to milk ratio for Ramesh’s and Suresh’s dairy products?

Solution: Ramesh= 2:5
                Suresh = 1:3

	16.2
	Who would fail the criterion set by the government?

Solution: Both 
               




	Q.17
	Inspired by the Swachh Bharat  Awareness Campaign held at K.V. No. 1 Ichhanath Surat, the students of class VII A decided to spend some significant amount of their time in cleaning their house, school campus or gardens in their vicinity.

[image: ]
Daksh spent  hours per day for the above mentioned purpose for the whole month of February 2019 and Shashank spent   hour per day for the whole month of March 2019 for the same.

	17.1
	What is the total time spent by Daksh and Shashank from February to March 2019 in cleaning?

Solution: Hours spent by Daksh per day = 1  =  hours
Total hours spent by Daksh in February =  × 28 =  = 46.66 hours
Hours spent by Shashank per day =   hours
Total hours spent by Shashank in March =  × 31 =  = 22.14 hours

Total time spent by both boys =  +  =  =  = 68.80 hours


	17.2
	Who spent lesser time for the same purpose and by how much?

Solution: Referring above solution we see that Shashank spent lesser time
Difference of time spent by both =  =  = 24.52 hours





	Q.18
	Rima bought a Cadbury chocolate having 24 parts. She shared her chocolate with Aliya, Shelly and Aarti. Aliya and shelly took three parts each whereas Aarti four parts. Suddenly Rima’s brother dropped in and took half of the chocolate from the left of the parts.[image: ]


	18.1
	Who got least share?

Solution:  Aliya and Shelly


	18.2
	What fraction of chocolate was taken away by Rima’s brother? 
 (A)		(b) 		(c) 		(d) 

Solution:  7/24


	18.3
	How much more is Rima’s brother share than Aarti share? 

Solution: 1/8 or 3/24





	Q.19
	Ram has drawn the following figures:-

	



			





	19.1
	Ram says that “the number of triangle is 4 less than the number of rectangle” Is Ram’s statement true or false? Justify.

Solution: Yes. Number of triangle is 5 and number of rectangle is 9 so statement is true.

	19.2
	If number of triangle is represented by ‘x’ and number of circle by ‘y’, then write an equation connecting x and y.  

Solution: 2x+1= y


	19.3
	What fraction of the total items is number of circle?

Solution:    Total number of circle-11
    Total number of items- 25
Fraction- 11/25





	Q.20
	Observe the following table-

	1
	5
	4
	3

	-2
	12
	9
	-5

	7
	11
	17
	21

	6
	2
	-100
	24





	20.1
	Draw circle on even numbers and rectangle on odd numbers.
			1
	5
	4
	3

	-2
	12
	9
	-5

	7
	11
	17
	21

	6
	2
	-100
	24


Solution:   
 






	20.2
	Draw triangle on negative integers and oval on the positive integers.
Solution:   
	1
	5
	4
	3

	-2
	12
	9
	-5

	7
	11
	17
	21

	6
	2
	-100
	24








	20.3
	Find the addition of all negative integers. 
Solution:    Negative integers= -2, -5, -100
Addition of all negative integers=   -2+(-5)+(-100)
				    = -2-5+(-100)
				    = -7+(-100)
				    =  -7-100
				    = -107














	Q.21
	[bookmark: page1]In a region there are some Mexican, Chinese and Indian people.
1. The number of chinese people is three times that of Mexican.

2. The number of Indian people is 6 less than that of Chinese .

3. The number of people in the region is 5 times the number of Indian. 


Which of the following equation can help you to find out the number of Mexican people?(Assume number of Mexican be x)

(A) X+3x+3x+6=5(3x+6)

(B) 7x-6=15x-30

(C) 7x-6=15x-38

(D) x+3x+x+6=5(3x+6)

Solution:  option (B) is correct .




	Q.22
	


The adverse effects of pollution caused by the chemicals released from the industries are visible in the changing population of organisms living in different water bodies. Above graph shows the population of organisms living in a lake situated in Vadodara in the years 2018 and 2019.

	22.1
	What is the approximate percentage increase/decrease in the population of catfish and tuna?
(i) 2 %                                       (ii) 20 %
(iii) 200 %                                   (iv) 2000 %
Solution:- 20%

	22.2
	Which is only organism whose population has increased? 
(i) Catfish                                  (iii)  Gold fish
(ii) Tuna                                      (iv)  Algae   

Solution:  (iv) Algae 






	Q.23
	In this question data given in the table and data asked in question below is not same  

After the state government released the guidelines to ban the use of plastic bags, 5 companies manufactured jute bags (in lakhs) in the following amount in the year 2018 and 2019 :-
	COMPANY
	Manufactured in 2018
       (in lakhs)
	Manufactured in 2019
             (in lakhs)

	TATA
	

	

	Reliance
	

	

	Aditya Birla Ltd
	

	




	23.1
	Which company manufactured maximum number of jute bags in 2019?

Solution: 
      LCM of 3, 4 and 5 = 60 
      Company A =   = 
     Company B = 
     Company C =  
On comparing the above data we see that  lakhs is maximum and hence company B manufactured maximum number of jute bags.


	23.2
	1.1 Which company showed maximum increase in number of bags manufactured from 2018 to 2019?

Solution: 
	COMPANY
	Manufactured in 2018
       (in lakhs)
	Manufactured in 2019
             (in lakhs)
	Difference

	TATA
	==

	=
	

	Reliance
	=

	=
	

	Aditya Birla Ltd
	=
	=
	


Hence we observe that maximum difference is seen in Reliance company.

	
Q.24
	This question is not suitable for class 7 student as it involves linear equation in two variables
[image: H:\GROUP C- PISA Q_files\image002.jpg]

On the occasion of Harshi’s birthday his mother give him ₹1600. Next day he decided to go to market to purchase some tables and chairs. The shopkeeper told him that the cost of 2 chairs and 3 tables is ₹1300. The cost of 3 chairs and 2 tables is ₹1200.


	24.1
	How much money did he had to pay if he want to purchase one chair?
 
Solution: Let the cost of one chair= Rs. X
                          The cost of one table = rs. Y
a/q               2x+3y=1300       .......(1)
                     3x+2y= 1200       .......(2)
Multiply equation (1) by 3 and equation (2) by 2
Again     the equations becomes
                6x+9y = 3900          .......(3)
                6x+4y = 2400          .......(4)
By solving them we get ;
X = Rs. 200
Hence the cost of one chair is Rs. 200


	24.2
	How much money did he had to pay if he want to buy a set of table and chair?
Solution : from equation (3) & (4)
We get     y= Rs. 300
Hence the cost of one table is Rs. 300


	24.3
	What is the difference between the cost of each chair and table?
Solution : difference = 300 – 200 =  Rs. 100


	24.4
	Find the maximum number of chairs if he buy at least 2 tables ?
Solution:     2*300 = 600
                       Left money = 1600 – 600 = 1000
                       Number of chairs = left money/ cost of one chair
                                                         = 1000/200
                                                         = 5


	Q.25
	[image: H:\GROUP C- PISA Q_files\image004.jpg]

	25.1
	The equations is :

	(a)
	x+2y = z-1

	(b)
	x+3y=1-2z

	(c)
	x+y= 1

	(d)
	2x+2y= z

	
	Solution : (b)







	Q.11
	QUESTION 11

	
	Given two tria   Given two triangles are congruent. Measures of some sides and angles are giv   ar given. Find the value of x
                             [image: https://lh5.googleusercontent.com/WAuYK0NZV5EA3UrmHhBoTRpMCcZeNUWCxxeXveesC5XNX6e5tDgVZUZMtJIWPvwBbfqV2J7f6o5eGHzUW4ldYOiFyGNPO4KrSG7U6UO_3Fip7c5DUxDpo48uu_I3HQ88aTa4N8P6]                [image: https://lh5.googleusercontent.com/UdkzWI99Za14RTBQW06mbF9AEX_GbUgRhb9xyNECZi5hLzYC4WfsnshklirrkeWgtuohPg9orwGm8gWDsWY7Ot7JoQ39XQ3AenpRmZx_pmKy0USphATcNRPRR3MDxhmF4HFawwYq]
(A) 53°                    (B)  57°                            (C)70°                  (D)55°

Solution    Solution:  
                            
                     Here in first figure measure of remaining angle = 180° - (70°+ 53°)                                                                                                            = 180° - 123°
                                                                                                     = 57°
                  Since given triangles are congruent. So angles opposite to corresponding equal sides are equal

     Therefore correct option is (B) 57°





	12
	Five   sides   of   different   lengths are given as follows : 

5 cm,   3 cm,    2 cm,   4 cm   and   1 cm.
 
Using any three   of   these   sides, four   students   are   asked   to   draw   a   rough   sketch   of   a   triangle. 

The students  A,  B,  C and D draw the triangles as given  below.
   [image: https://lh4.googleusercontent.com/1LeSUnRFxayvNn9qcv--_tTE_3uduY0Ma12R6ISxSlhTAFFcc7vqebiPfiwLYCIkgFW_uez3W_X15NYih_g5QE1iV8JreuGkvMYHqXHhEsmUFRqivzuKcjailrrdX4piuuWRPXbH]        [image: https://lh3.googleusercontent.com/2vOPiLkm-rMX-KZ7f9FmS6xUtNxmDFcTOEnJLo_Y7zDWeiU5LSyeh4U0kNvIeO02e_z1XwHIbeCjzGv3DzTd9BRiyH-GJYiHDdN63TOPCaQV5WMMxKszPJ85TbZ_zVeWwJ_rZehS]        [image: https://lh3.googleusercontent.com/6o8padgwqYZVj5S-Ow3qrOneS9V-1pTypknYbKOiPynaDow6_MTjkbYaGzzPH7ONQOVlnqd5P13oMpUTOpxxpziOV2_57Nk5hymEkLMXTNBScCbcFGCK9GnI04H01X2sp8GoCXUr]                                                                                                                                                     [image: https://lh5.googleusercontent.com/tDlO2uNRoq_v_mih4G3KR-KoB_Lqdk5x-5aYOYANgrFfqBtnbE-J9gIImqcz3aP-_BipWpFPYYfYyCOllsvmx_qV9zjyVIPgFyIH_ChV6PZENFHpUFvb4DJUj-BgYtGAkZD_9fzk]

	
	  Tick ‘ YES’ if the triangle is possible  and  ‘No’ if the triangle is not possible
  _________________________________________________________
              Student                        Tick the correct option   _________________________________________________________
                                           A                                    Yes / No
                                           B                                    Yes / No
                                           C                                    Yes / No
                                           D                                    Yes / No
  __________________________________________________________

Ans:       (A) No           (B) Yes                    (C) Yes           (D) NO

Hint: Sum of a               ( sum of two sides of a triangle is less than the third side)





	Q.13    
	This question is not suitable for class VII th student as similar triangles is there in X th class   
Two ladders are leaning against a wall at the same angle as shown.
             How long is the shorter ladder?

[image: https://lh5.googleusercontent.com/FGC3iowFvKbu1ze5_ByodBhtySjqq4MCmcBbURtvaXya4vOcSaVU-cAT8bi_-DELIPNxOBx7NrwFln82IlAXqPbU5z4v8U1o2Pz0hJrVH_Lbv3jyngo7zQF3IngEy0xpUnI_xNQj]

solution: Let length of shorter ladder be x
               By the law of similar triangles        
                  x/50 = 20/40
                   x = ½  ×  50 
                     x = 25 feet


















	Q.14                        
	Nitesh had 360 stamps. He sold 1/3 of them on  Monday and 1/4 of the remainder on Tuesday. 

                   [image: https://lh3.googleusercontent.com/6bI5RAH0Ia8Iu-soDGAykRsdHBbt61Qynts19vMDXvkg-ELoOUXkngTMLf7pllDv1xBl_JLsrCHIH9GQGK4CvMFygqZtn3DA-jeSrJX5DNThsJppoUV_jv584C5TJj7QnL1vltMF]

	14.1
	             How many stamps did he sell on Monday?
(i) 100
(ii) 120
(iii) 130
(iv) 140

   Ans:-  (i)         stamps sold on Monday = 1/3 of 360
                                                                             = ⅓ × 360    
                                                                             = 120 stamps


	14.2
	How many stamps did he sell on Tuesday?
(i) 40
(ii) 50
(iii) 60
(iv) 70
                           
 Stam      Ans:-  (iii)      stamps sold on Tuesday = 1/4 of 240  
                                                                              = ¼  × 240 
                                                                              = 60 stamps


	14.3
	            Is it true that 180 stamps were remaining ? Justify.
                                                  
  Ans:- Yes
  stamps remaining on Wednesday = 360 - (120 + 60 )  
                                                        = 360 - 180 
                                                         =180 stamps

	Q.15
	Directions: The following pie-chart represents the result of 600 successful students in various subjects in an examination. 
Study the chart and answer questions numbers.
[image: Bank PO , SSC, CDS, Data Interpretation pie Chart Set 14]


	15.1
	The ratio of students who passed in Bengali, to the students who passed in History is
(a) 1: 2
(b) 2: 1
(c) 3: 4
(d) 3: 5


	15.2
	The number of students passed in Bengali is greater than the number of students passed in History by
(a) 150
(b) 60
(c) 120
(d) 100


	15.3
	The percentage of students who passed in English is
(a) 15%
(b) 20%
(c) 5%
(d) 12%

[image: ]





	Q.16














16.1








16.2

















16.3
	The following pie-diagram shows the expenditure incurred in the preparation of a book by a publisher, under various heads.
[image: Line Graph Solved Examples]
 What is the difference between the angle of pie- diagram showing the expenditure incurred on binding and printing?
1. 24°
2. 48°
3. 18°
4. 15°
If the marked price of the book is Rs. 50,what is the cost of printing to publish a single copy of the book ,if the marked price of a book is 25% more than its cost price?
1. Rs.6
2. Rs.10
3. Rs.4.50
4. Rs.6.50




By what percentage, expenditure on binding should be reduced so that its expenditure will be equal to paper expenditure?
1. 25%
2. 33.33%
3. 27 2/3%
4. 20%
4. If the sum of two expenditures is represented by 144 degrees in the diagram (if the diagram is made in terms of degrees), these expenditures are
1. Printing & Paper
2. Paper & Binding
3. Printing & Misc
4. Binding & Misc
5. Binding is more than printing charges by
1. 25%
2. 27 2/3%
3. 23.5%
4. 20%
Solution;-1 Binding sector is 30% and Printing sector is 25%. So difference is 5%. Difference of angle                            = 5 x 360 / 1000 = 180
2. The marked price = Rs.50/-. The cost price = 50 / 1.25 = 40
Cost of printing = 25% of 40 = 0.25×40= Rs 10.
3. Binding expenditure = 30%, Paper expenditure = 20% Percent reduction = (30 - 20) /30 x 100 = 33.33%
4. Answer Option: 4
For printing and Paper = (25%+20%)=45%=1620
For paper and binding = (30%+20%)=50%=1800
For printing and misc = (25%+10%)=35%=1260.
For binding and misc = (30%+10%)=40%=1440.
5. Binding is 30% of the total cost and printing is 25% of the total cost.
So, the required percentage = 30 - 25 / 25 x 100 = 5 / 25 x 100 = 20%
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Answer: 1 (b)

Solution: The central angles of Bengali and History are 144°and 72°
respectively.

Hence, the required ratio is 144: 72 =2: 1.

The correct option s (b)

Answer: 2 (c)

Solution: The difference between the central angles of Bengali and
History is 144°—-72°=72°.

The total central angle is 360° which corresponds to 600 students.
Hence, the required difference is %xn: 120

The correct option is (0).

Answer: 3 (a)

Solution: The central angle of English is 54°.

The total central angle of circle is 360° which corresponds to 100%.
Hence, the required percentage for English is %xst:lm

Correct option s (a)
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